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AT 7597 :
FHETITIEd 143971 @1 agad Iaer] @ 9igq 3 371 e & qIci7 Bl :

(i)
(ii)
(ii1)

39 J97-97 § 35 Y97 & | @4t 397 A & |
T8 Yo7-97 Qi @US] A [958 - &, &, T, 90 & /
GUE & 7 J97 G 1 T 18 TF TGlAehed1q THR & Tah-Uah 7% & Jo7 & |

(iv) WY@ T Jo7 G&IT 19 T 25 7% 3fd Tg-ITHIT FHR & 31-31 371 & J97 38 |
(v) U T H J57 T&I7 26 G 30 7% TY-FTHIT YHR & dH-A7 371 & J97 & |
(vi) T@UE T H J97 G&IT 31 TIT 32 FG-TEIRT TR-TT 3Hhl & J97 8 |
(vii) TWUE FH Y97 G 33 T 35 Fe-3RIT JHR & Gia-uier bl & J77 8 |
(viii) ¥97-99 § GHY [aheq 767 1397 7371 8 | FEf4, @8 @ & 2 oAl §, @I 7T & 2 JoI

H, G857 % 2 o § a9 @98 T & 2 ¥ 7 HaRk# [Ahcq &7 JIaeT 397 a7

g/
(ix) PPl & TN afda & |

QUE %
o7 G&T 1 & 18 T gIahcdId YHR & Uh-UF 37 & J97 & | 18 x1=18
1. SISy 3 yaa fagq-emee & foe frafalea sey feo .
A=A,—AJC

frfeiigd gAaT § @ 9T 9 & ?

(a) /\=/\OTRﬁﬁC—>\/K

(b) A=A, FHC —> 0

() A=A, HBC —> oo

@ A=A FHC—>1
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General Instructions :

Read the following instructions carefully and strictly follow them :

(i) This question paper contains 35 questions. All questions are compulsory.

(it)  This question paper is divided into five Sections - A, B, C, D and E.

(iti) In Section A — Questions no. 1 to 18 are multiple choice (MCQ) type questions,
carrying 1 mark each.

(iv) In Section B - Questions no. 19 to 25 very short answer (VSA) type questions,
carrying 2 marks each.

(v)  In Section C - Questions no. 26 to 30 are short answer (SA) type questions,
carrying 3 marks each.

(vi) In Section D - Questions no. 31 and 32 are case-based questions carrying
4 marks each.

(vii) In Section E — Questions no. 33 to 35 are long answer (LA) type questions
carrying 5 marks each.

(viii) There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 2 questions in Section C, 2 questions in Section D and
2 questions in Section E.

(ix)  Use of calculators is not allowed.

SECTION A

Questions no. 1 to 18 are Multiple Choice (MCQ) type Questions, carrying

1 mark each. 18 x1=18

1. Kohlrausch gave the following relation for strong electrolyte :

56/3/3

A= A,—AAC
Which of the following equality holds true ?
(a) A=A,asC —>JA
(b) A
(c) A=AN,a8C —>
d A

=N,asC —— 0

=AN,asC —1

3> Qe P.T.O.
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frafeifaa o @ i9-a1 Ueshd BaiTse a1 o1 9qHd 8 ?
(a) CH,=CH-CI

() CH,=CH - CH,- CH,-Cl

(¢ CH,=CH- CH - CH,

|
Cl

(d CH=C-CH,-Cl

T 2al o Teueranelt Tagor =1 FaoMTF SHT gal & a9 U I BT g 99

Iz :
(a) U3ce oW ¥ Acafies RumcAes foarad exiiar @ |

(b) U3ce Fam @ fauem 72 eurlar @ |
(¢c) TSee T19m & Ircafter y-TceHe fa=rer aurar @ |
(d) U3ee T¥8 T qre shidr © |

T T 1-TUATAT T FATINRT A o U, Fefatad § 9 98 3Tt
3R uffeufrat g B =g 2

(a) ®g HySO, ; HyO 3R /A HEAT

(b)  B,Hg; H,0,/OH

(¢ @3 H,S0,

d H,0/H"

CH,COCI1 =i UHIeH H ®uiaid ot * fog fFfalad sifieedsl 4 9 -0
T ?

(a)  (CHy),Cd (b) CH3;MgBr

(© CH4CI (d)  (CHg0),Mg

st <6t AfYes O § Afde Feiise o g Afufshar gea: ¢t
(a)  Tfdemur=

(b)  STEHIIAUHEA
(¢) ITHIYAMIET Feliss
@  zrnfenda
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2. Which of the following belongs to the class of alkyl halides ?
(a) CHy=CH-CI
(b) CH,=CH-CH,-CH,-Cl
(0 CH,=CH-CH -CHyq
g
(d CH=C-CH,-Cl

3. An azeotropic mixture of two liquids has a boiling point higher than
either of the two liquids when it :

(a) shows large negative deviation from Raoult’s law.
(b)  shows no deviation from Raoult’s law.
(c) shows large positive deviation from Raoult’s law.

(d)  obeys Raoult’s law.

4., For the conversion of propene into 1-propanol, which of the following
reagents and conditions should be used ?

(a)  Conc. HySO, ; Hy,O and heat
(b) ByHg; HyO,/OH

(c) Dilute HySO,

(d H,0/H"

5. Which of the following reagents would one choose to transform CH3COC1

into acetone ?

(a)  (CHy),Cd (b) CH3MgBr
(c) CH4CI (d) (CH30),Mg

6. The reaction of ammonia with a large excess of methyl chloride will yield
mainly :

(a) methylamine
(b)  dimethylamine
(c) tetramethylammonium chloride

(d)  trimethylamine

56/3/3 <5 > msm P.T.O.
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TRIE 1 Il FTEET § TAE e B

(a) C-2 (b) C-3
c) C-4 @ C-1
ferfim B<h =t | @ STl % :

(a) fThem

(b) wEURET sl HHA

(c)  Ehdl

d) sl

TS AR Sl i TN i b G HATS ATGHAT R BT B
(a)  PbSO, @ famiur

(b)  Pb* w1 Pb* 4 srqeRM

(¢)  PbOgy 3R Pb &I ST

(d U W Pb i Femy

fefeifgd & o H-8 Ja ey foerm 7g7 s 2

(a)  SSfH 3R e
(b) T3l I I I
(c)  BFEH R qeA

@) T TS IR TS SHES

SIe SRIEYR "egdl I gAT fohan Sirar 8, an SAffshan o1 ated-311y g+t &1 ST
7 | rfufshan 1 &I 2

@ 1 b) 2
(c) 4 d O

ffeTiad 3TRET H & fopad STIfWa d-Sciargi-il ohl T&IT TaTieeh g ?
(a) Fe3* b) Vv

(¢)  Ti%* d)  Sc3*

[GRHTY] ShHTeh : Fe = 26, V = 23, Ti = 22, Sc = 21]
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7. In the ring structure of glucose, the anomeric carbon is :
(a) C-2 (b) C-3
(c) C-4 (d C41

8. Deficiency of Vitamin B causes :

(a) rickets
(b) muscular weakness
(c) scurvy

(d) beri-beri

9. The cathode reaction during the charging of a lead storage battery leads
to the :

(a)  formation of PbSOy4

(b)  reduction of Pb%* to Pb**

(¢)  formation of PbOgy and Pb
(d)  deposition of Pb at the anode

10. Which one of the following pairs will not form an ideal solution ?
(a)  Benzene and Toluene
(b)  Nitric acid and Water
(c) Hexane and Heptane

(d)  Ethyl chloride and Ethyl bromide

11. The half-life of a reaction is doubled when the initial concentration is
doubled. The order of the reaction is :

(a) 1 (b) 2
() 4 d o0

12. Which of the following ions has the maximum number of unpaired
d-electrons ?
(a) Fe3* b) V
(¢  Tid* d St
[Atomic number : Fe = 26, V = 23, Ti = 22, Sc = 21]
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13. f=faRed 4 & wH-w1 sgadt fors & 2
(a) NH,
(b)  H,N - CH,— CH,— NH,
(¢c) EDTA*
9_
@ 0

14. T=fafad suogeasH Aifiel @ @ $i9-a1 9t THTEEEdr gl 8 ?
()  [Co(NH),Cly]
(b)  [Co(NH,),(COZICI
(©  [Co(NHyNO,I(NOy),
(d)  [Co(en)4IClg

9T G&IT 15 @ 18 & 70, 31 %97 30 70 § — 579 U & 9697 (A) TgT
gt &1 HROT (R) GRT 3ifaha a1 741 § | 37 941 & @gl 3¢ 719 130 77 &gt
(@), (b), (c) 3 (d) @ gAaT FfFT |

(a) AMMHAT (A) 3T SR (R) T Tl & W SR (R), AR (A) I
g ST HLdT 2 |

(b)  SATTHA (A) 3T R (R) THI T& &, T RV (R), AMHeT (A) H
8! AR gt il g |

()  HAWHI (A) W&l 8, W HR (R) T4 & |
(d)  ANTHA (A) T ], Tg HRT (R) T& 7 |

15. 3HIT (A) : FATUCAT <hl UL TSI T ARG TAeATo T
BT R |

FRU(R):  C—131a9 &l qoT § C — Cl &Y 61 A H1 A gl 7 |

16. 39HI7 (A) : Afufsean & fow =hife 3T smfvaehar gea @9 8 8 |
FRU(R):  Sied AMHATT 3 e Tshansti & el o shH | 9vd
2t 8 3 g«8 #e ye 97 Fufes a3 |
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Which of the following is a polydentate ligand ?

(a) NH,
(b) H,N - CH,—- CH,— NH,
(c0 EDTA*

@ C0;

Which of the following coordination compounds exhibits linkage
isomerism ?

(8)  [Co(NHy),Cly]
(b)  [Co(NH3).(COZ)ICl

(©  [Co(NH,)NO,J(NO,),
(d)  [Co(en)sIClyg

For Questions number 15 to 18, two statements are given — one labelled as
Assertion (A) and the other labelled as Reason (R). Select the correct
answer to these questions from the codes (a), (b), (c¢) and (d) as given below.

15.

16.

56/3/3

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

Assertion (A) : Nucleophilic substitution of iodoethane is easier than

chloroethane.

Reason (R): Bond energy of C — Cl bond is less than C — I bond.

Assertion (A) : Order and molecularity of a reaction are always same.

Reason (R): Complex reactions involve a sequence of elementary

reactions and the slowest step is rate determining.

<9 > msm P.T.O.
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yFIT (A) : T 1 GhHY1 dd &1 AET AT 2 |

FRU(R): T H @ TTwA A1 ATawichd TGEAT GHI H T 38k 3d
hefeh Ul Wid 2id § |

37YFYT (A) : Fe2+ 319= Ik hl Hifd M Hdl 2 |

HR (R) : 3d5 fI=IT8 o HRUT Fe3+ 3T Tl gidl 2 |

Qs @

frafafiga SIfufshanstt & ofad 3camgl il TG R TR g W.u.dl. 9™
AR - 2x1=2
() QMgBrﬁ YA o F1Y AR 3TN 3T v TA-TTEA |

(@) A H Bry (aq) 3 A1 AHIGRAT |

Torelt wem pife srfufsran i o7d-o1y 60 fme 8 | 909 Ifvrertes o THTd BH

T foraT T9F < ? 2
[feam T 2 . log 2 = 0-3010, log 3 =0-4771, log 10 = 1]

freafafga sifufseanst @ geg vamfae g fafee . 2
(%) e Affshan

(@) Tfsue Sfcrrss Ty
TIATA 3T THIEH 1 fgr Tkee w9 ford TR =1 fo=rea exiiar 8 2 R

T | 2
(%) () ot 3HR T FeiEEee v 9 4 Gufed &d & 2 fodl T o =
Seci@ SIS T8l I8 UM Bid & |
(i) ¥eE IR Iq@d H AT GCEHTHe I F1 8 ? 2
3Tt
(@) f=fafaa & aga 7w =y hifve . 2

()  ULEE 99 AN TEhIiSh 94
[N N

(i) IfFAsTEES IR FFAAES
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17. Assertion (A): Zinc is not regarded as a transition element.

Reason (R): In zinc, 3d orbitals are completely filled in its ground
state as well as in its oxidised state.

18.  Assertion (A) : Fe2* acts as a reducing agent.

Reason (R):  Fe3* state is stable due to 3d° configuration.

SECTION B

19. Give the structures and IUPAC name of the products expected from the
following reactions : 2x1=2

(a) Reaction of methanal with <:>— MgBr followed by hydrolysis.

(b)  Reaction of phenol with Br, (aq).

20. The half-life of a first order reaction is 60 minutes. How long will it take
to consume 90% of the reactant ? 2

[Given : log 2 = 0-3010, log 3 = 0-4771, log 10 = 1]

21. Write the chemical equation involved in the following reactions : 2
(a) Carbylamine reaction
(b)  Gabriel phthalimide synthesis

22. What type of deviation from Raoult’s law is shown by a mixture of
ethanol and acetone ? Give reason. 2

23. (a) () How are carbohydrates stored in animal body ? Mention any
one organ where they are present.

(11) What is the basic structural difference between starch and

cellulose ? 2
OR
(b) Differentiate between : 2

(i)  Peptide linkage and Glycosidic linkage

(11) Nucleoside and Nucleotide

56/3/3 11> msm P.T.O.
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(%) Sud o 1 aRerfyd A o sk gt @ fafae | 2
Yt
(@) = fou T E° 9Hl 1 3TN A gU, UFIRE i b Hermor Tk
T <R 1 gag W 99 & TAU shia-a1 dgat g 3 =l 2 2
fem mn 2 El 2+ o =—236V
B9, =—014V
ES 21 g, =044V
R WY 2x1=2

(%) UEHIfEH 371 hl T H Bk 3TF T 37 3 |
(@) UfcegEet 3 HITHT & UeHl (0)-BTESIeH 3TAT Bid 7 |

@UE T
HAMfRAT T g B ST B S ™ H qieadd 27°C § 37°C T Bdl B |
Ffurfshan o fore wispaor ot uftefera T | (R = 8-314 T K~ mol™}) 3

(fe=m 72 8 : log 2 = 0-3010, log 3 = 0-4771, log 4 = 0-6021)

3cq1E I AT fAfgU & D-ieehie HHfaRad o |1 ARl &Ll &
(1g @) 3Ix1=3
(%) HI
(@) 4z HNO,

(‘T) Bry Sd
() HCN

(%) Frefefaa siffearsi § A, B sit ¢ s g fifay - 2x1%:3

() @ coon—s, o Pra tNaOH , g

NaNOy + HCl
0°C
HNO;
0°C

12> 35
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(a) Define fuel cell and write its two advantages. 2
OR
(b) Using E° values of X and Y given below, predict which is better for
coating the surface of Iron to prevent corrosion and why ? 2
Given : E;’(QJF/X =-236V
EY2+/Y =-014V
EFe2+ /Fe 0-44V
Give reasons : 2x1=2

(a) Formic acid is a stronger acid than acetic acid.

(b)  Alpha (o)-Hydrogens of aldehydes and ketones are acidic.
SECTION C

The rate of a reaction doubles when temperature changes from 27°C to
37°C. Calculate energy of activation for the reaction.

(R=8314JK ' mol™ 3
(Given : log 2 = 0-3010, log 3 = 0-4771, log 4 = 0-6021)

Write the structure of product when D-Glucose reacts with the following :
(any three) 3x1=3

(a) HI
(b) Conc. HNO3

(c) Br2 water
(d) HCN

(a) Write the structures of A, B and C in the following reactions : 2x1 é =3

() @ coon—s, o Pra tNaOH g

NaNOg + HCl
0°C
LiAlH 4 . B HNO9
0°C

Q

KCN

A4

ii)) CH3CH,Br > A

OR

13> msm P.T.O.
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o

(@) o fFeAfafigd S s8 S 3x1=3
() U= & psERfAet
(i) TSR A H HAAHA
(iii) SIERA & 1-VHHA

29. 0-3 g UHifes A (M = 60 g mol—1) 30 g Si5fH H Hie T fgdT® T 0-45°C 1
FITHT BIaT § | I I8 foeed | fgaw s=man 8, a giehferd shifoe foh 30t 1
T feran S g | (feam = § - S % faIT K= 5:12 K kg mol ™) 3
30. (%) T=fRaa srfufseen <t franfafyr e .
CH3—CH2—OH%3+K>CH2:CH2+H20
(@) g 9 B o fotad i srffsean o oo afieRr fafam | 3
Qus |
1T 397 Sa-STe9RT I97 & | 39 &l Tagrigas 71ev K 13T 7T 3971 & IR
g |
31. Ufcohal ga@el o C — X AWY hl gaar b  ANThEIE TTaemdd,

56/3/3

foetios qen arg wEmvpst @ Afufshan gro sedTfcaes Jifiet & fmfor & foo
IR B | Ufeshd gagSl i Ugehdl o Hh HoT gallod g, UeshHl W

el STl o AN NI, Ucehlgidd o — OH TUE I HIEHRA ddlse AT
TR FARGE AT gl TFAT o ITAN & SHRT ST 8 | TR garse
H WAT I soAdeg gfdeas Atk g sARn S ' | et
ARl O & SATIR W ATHRERT JIaeemde SRS I Syl d Sy2
sAfufshaneti 4 arfieha foram TR 2 | Sy 19 Sy2 3tfulshan 1 femanfafer =t wweH

% ToTu feptfctdt <t HEwaqul Y[e 2 |
35
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(b) How will you convert the following : 3x1=3
(i)  Aniline to p-bromoaniline
(ii)) Ethanoic acid to methanamine

(111) Butanenitrile to 1-aminobutane

0-3 g of aceticacid M =60 g mol_l) dissolved in 30 g of benzene shows a
depression in freezing point equal to 0-45°C. Calculate the percentage
association of acid if it forms a dimer in the solution. 3

(Given : K, for benzene = 5-12 K kg mol_l)

(a) Write the mechanism of the following reaction :

H* _
(b) Write the equation of the reaction for the preparation of phenol
from cumene. 3
SECTION D

The following questions are case-based questions. Read the case carefully and
answer the questions that follow.

31.

56/3/3

The polarity of C — X bond of alkyl halides is responsible for their
nucleophilic substitution, elimination and their reaction with metal atoms
to form organometallic compounds. Alkyl halides are prepared by the free
radical halogenation of alkanes, addition of halogen acids to alkenes,
replacement of — OH group of alcohols with halogens using phosphorus
halides, thionyl chloride or halogen acids. Aryl halides are prepared by

electrophilic substitution of arenes. Nucleophilic substitution reactions
are categorised into Sy! and SN2 on the basis of their kinetic properties.

Chirality has a profound role in understanding the Sy! and SN2

mechanism.

<15 > msm P.T.O.
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(i) < BIaT & 3o b 3o Shi Sufedfa # siieeia St Mg % @Y
rfvfshan 1 ST 8 ? 1

(i) FelRad gl § @ sH-1 A OH™ % &1 Syl fufsean
igrar & g ? 1

(2)  (CHg)C — Cl 3@l CHyCl

(i) (1) 1FARSA (2) FE-157 H 1-TEYH o fo=d &
IR feTfeT | 2x1=2

AAAT
(i) f=fRaa g sifufshan o e Scargl 1 ot fiflaw : 2x7=2

(1) CHz- CH - CH3 + KOH —— ', qim;“e'

|
Br

Cl

(2) ©+CH30001 FSfeftr Al >

ITHEEASH Ak @S, 9169 AR Ioft Sva  foega &9 @ formm g 3R
Jvciftyeh WRM, oTqeRd, Afas Jonferat i ofiwy & & § e ggwaqul g
T i o U IH A0 8 | 3ehe I o g o AR, ITHgEASH
ifienl # form™ a1g RETO/3TRE € YRR i HAShard (Seifies e fediaes)
1 ITN HA 3 | FHEFSAT o6 07 1 ITANT hLd FC 38 3T ITHGEASH
TATSAT <l SATHA SR o IR H JTRE Sl | GASehdl 31wy g (VBT)
ITHEEASH AR o S, Trhld FGgR AT SATHAA TRl 1 FAT=rd
TR ot 2 | fR oft o1 fagra 57 ifitent & gawr qun < wey # 3o ot 7
el | Thtea & g (CFT) IuggsaieM Afieel d foemm g org
LTI/ & d-hefehi shl Sattstl s aumar W fafie fohcea &=t & g
(TerT=el =l forg 3TTe™t HId BY 37k R TG THTE) <hl SATEAT il 2 |
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Answer the following questions :

(i)  What happens when bromobenzene is treated with Mg in the
presence of dry ether ? 1

(ii)) Which compound in each of the following pairs will react

faster in Sn! reaction with OH ? 1
(2) (CHg)3C—Cl or CH4CI

(iii) Write the equations for the preparation of 1-iodobutane from
(1) 1-chlorobutane

(2) but-1-ene. 2x1=2
OR
(iii) Write the structure of the major products in each of the
following reactions : 2x1=2
(1) CH;- CH - CH, + KOH —=thanol |
| heat
Br
Cl

(2) @ + CH,cOc] —2nhyd- AlCly

32. Coordination compounds are widely present in the minerals, plant and
animal worlds and are known to play many important functions in the
area of analytical chemistry, metallurgy, biological systems and medicine.
Alfred Werner’s theory postulated the use of two types of linkages
(primary and secondary), by a metal atom/ion in a coordination compound.
He predicted the geometrical shapes of a large number of coordination
entities using the property of isomerism. The Valence Bond Theory (VBT)
explains the formation, magnetic behaviour and geometrical shapes of
coordination compounds. It, however, fails to describe the optical
properties of these compounds. The Crystal Field Theory (CFT) explains
the effect of different crystal fields (provided by the ligands taken as point
charges) on the degeneracy of d-orbital energies of the central metal
atom/ion.

56/3/3 7> msm P.T.O.
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(i) 9 IuEgEAsH A NiCl, . 6H,0 i AgNO, forem & d19
fomn @, @ wia 7 A % T 2 7| AgCl SfaEiud gy |
el I TEAHS §F T Hohal AA i fgctas Fisrendl

fafeT | 1
(i)  [Co(NH3)5(SOICl & A HHE¥E 1 5. H.0H. 9

fetfiare | 1
(i) HAShAT Y g 1 3T A gU, Tmfeiad i st

IR T AR hl YRR T

(1) [Ni(CO),]

2)  [Fe(CN)gl%"

[FHTY] ShHTeh : Ni = 28, Fe = 26] 2x1=2
qeraT
(iii)  <HROT IoTT 2x1=2

(1) T J=hv aqshah ™ T Tal §9d & |

2)  [Co(NHy) °" Uh ofidieh hersh @pel 8  Slh
[Ni(NH,)g]*" T ol et Gt 2 |
[GRHTI] 3RHT : Co = 27, Ni = 28]

wgus &
33. (%) () CgH, O 3NUIeh FF AT HI3 He ek Al (X) ST FEHTSAT
R R Fd g S qoEE o9 @R 8 | T hl HEl
difere =g 78
(1) gFTcHe TSR Tefo <1 2 |
(2)  Hiemr stfufsran guiar 2 |
(3) Zfeid 2ATehtieh i TUfId h ¢al & R 3T fohial e
g
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Answer the following questions :

(1)

(ii)

(iii)

(iii)

(i)

When a coordination compound NiCl, . 6H,0O is mixed with

AgNOj solution, 2 moles of AgCl are precipitated per mole of

the compound. Write the structural formula of the complex
and secondary valency for Nickel ion. 1
Write the IUPAC name of the ionisation isomer of
[Co(NHj3)5(SO4)ICl. 1
Using Valence Bond Theory, predict the geometry and

magnetic nature of :
(1)  [Ni(CO),]

) [Fe(CN)g>~

[Atomic number : Ni = 28, Fe = 26] 2x1=2
OR
Give reasons : 2x1=2

(1) Low spin tetrahedral complexes are not formed.

(2) [Co(NH3)6]3+ is an inner orbital complex whereas
[Ni(NHg)g)”
[Atomic number : Co = 27, Ni = 28]

+ . .
is an outer orbital complex.

SECTION E

An organic compound (X) having molecular formula C;H;,0

can show various properties depending on its structures.

Draw each of the structures if it
(1) gives positive iodoform test.
(2) shows Cannizzaro’s reaction.

(3) reduces Tollens’ reagent and has a chiral carbon.

mye PT.O.

E HH
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Gi) T=faRed @ grag fufswan fofen .
(1) IoH-ThIMT 3TI=RMA

(2) TA-BIdATe-AAfereeh! Affshan 3+2=5

AT

@) @) o fEfaiga s A F doiigs 3T T hE ®ANG B
Hhd 8 ?
(1) RN
(2) et
(3) SIS

(i) TfcIRaa ARl 1 Ik ST R 7T U % F@d gC A H
I ﬁﬁm :
(1) O,N - CH,- COOH, F - CH, - COOH, CN — CH,COOH
ESIRECRETLY

(2) WA, AU, YA, TUTH
(Arfyergt IS Afirfshamet o arfurfshamstieran) 3+2=5

34. (#) 25°C W FAfIRaa a 1 oEd-aT8s 9 (emf) TG HINIT :
Zn (s) | ZnZ* (0-1 M) || H' (0-01 M) | Hy (g) (1 bar), Pt (s)

fem = g : E° =—-076V, E;

AT =0-00 V, log 10 = 1]

*/Ho

(@) HIAURHIA ST AR o AT ANFE BT 90 Fa3¢ | TIHWT o d19

foretae <Al STetendT ° 1 81 Irdl & 2 3+2=5
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(ii)) Write the reaction involved in the following :
(1) Wolff-Kishner reduction

(2) Hell-Volhard-Zelinsky reaction 3+2=5

OR

(b) (1) How can you convert each of the following compounds to

Benzoic acid ?

(1) Acetophenone
(2) Ethylbenzene
(3) Bromobenzene

(i1) Arrange the following compounds in increasing order of their

property as indicated :

(1)  O,N - CH,— COOH, F — CH, - COOH, CN - CH,COOH

(Acidic character)

(2) Ethanal, Propanal, Butanone, Propanone
(Reactivity in nucleophilic addition reactions) 3+2=5

34. (a) Calculate the emf of the following cell at 25°C :
Zn (s) | ZnZ* (0-1 M) || H' (0-01 M) | Hy (g) (1 bar), Pt (s)

[Given : EZn2+/ gn = 076 V, EH+/ H =000V, log10=1]

(b) State Kohlrausch law of independent migration of ions. Why does

the conductivity of a solution decrease with dilution ? 3+2=5

56/3/3 21> msm P.T.O.
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(1)

(i1)
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fferiad < sror difw
(1) GshAY GTq¢ Hebed AfiTeh ST 2 |
(2) Trw & fow B 240

E: 3+, Mn2+é; T oFTenes B |

(3) i faea & Cut 3 srEarh 2 |

oH s FMcHs § Siel(eh

TRIIETSE 3-EH (MnO,) ¥ KMnO, % o= 8 wFeg dHieh

fafgw |
AT
fefafga ht yg=m hifvu

3+2=5

(1) 3d 2oft 1 ThAU 9Ig S had Teh ATV e

T & |

(2) 3d ot i TR 91q T TAT TIATH H +2 TR

AT | YA AT R |

frteiiaa Ffienten =1 ol 3R dqfora it
(1) Cr,00 +14H" + 6Fe2 —
) KMnO, —TEFIR

forer a1g 1 B 2 39T U ST fofEu |

242+1=5
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35. (a) () Account for the following :

(1) Transition metals form complex compounds.

(2) The E: value for manganese is highly negative

Mn2*/ Mn

whereas EMn3+ M2t 18 highly positive.

(3) Cu" ion is unstable in aqueous solution.

(ii)) Write the equations involved in the preparation of KMnOy

from Pyrolusite ore (MnOy).
OR

(b) (1) Identify the following :

3+2=5

(1) Transition metal of 3d series that exhibits only one

oxidation state.

(2) Transition metal of 3d series that acts as a strong

reducing agent in +2 oxidation state in aqueous solution.

(ii)) Complete and balance the following equations :
9
(1) Cr,0; +14H" + 6Fe?* ——

(2) KMnO, —€at

(111) What is Misch metal ? Write its one use.

56/3/3 23> By
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